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Attempt any five questions.
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L (@)  ““There is a conflict in public preferences between those

who wish to have higher expenditure and those who
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“wish to limit the burden of taxes ?” How the si‘ze and
composition of public spending reflects the preferen:ce of

the majority of citizens expréssed through a political
process which explains the public sector growth in an

. economy. ; _ 8

(b)  Briefly discuss the recommendations of Fourteenth Finance
. Commission on vertical and horizontal balances. '7.
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(@) Explain with diagram the "gains from trade" aspect of
public good provision through Lindhal-Johansen
‘so!ution on provision of public good. 8

(b) “Dead weight loss of a tax increase with the tax rate and

the substitution effect.” Examine. %
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(@) The source of market inefficiency is the divergence
bgtween privafe and social benéﬁts (costs}.. Ho»_v can
we eliminate such divergence through Pigouvéan

taxation ? Use diagram to support your answer. 7

(b) . Why are taxes distortionary in nature ? The amount by
.which price rises depends on the shape of the demand
and supply curves, nort on whom the tax is levied. In this
background, explait; the relationship between elasticity
and tax incidence. Use diégrams to support your

answer. &
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A beekeeper (Ms. Madhu) and a farmer (Seb Singh) with
an apple orchard are neighbours.  Bees pollinate the
apple trees : one beehive pollinates one acre of orchard.
But there.are not enough trees next door to pollinate the
whole orchard and pollination costs are Rs.10/acre. The
beekeeper has total cost of Tl = HétA0H + 10 where
H is the number of beehives. Each beehive yields Rs. 20
worth of honey, 2424242
() How many beehives would the beekeeper maintain

if operating independently of the farmer 2
(7)  What is the socially efficient number of hives ?

(7ii)  In the absence of transaction costs, what outcome
do you expect to arise from bargaining between
the beekeeper and the farmer ?

() How higlz would transaction cost be to erase all
gains from bargaining ?

Why lowering the marginal tax rate for the highest

income group may be desirable to design an optimal

tax structure. Explain with diagram. 7
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Show with diagrams the effect of variation in the income

.;‘(

tax rate on labour supply and before tax income using'
a standard model of consumer choice where consumer
has a given set of preferences over consumption and

leisure with utility function given as :
U=U@L-D=U@D

L is total time endowment, / is labour supply and x is

i d il >0 and @ <0
consumption an P and — ;

- Show how this model explains the participation in the

labourforce decision of an individual in relation to
increase in taxation given that there is minimum hours of

work that must be undertaken. 8

How has Tiebout responded to the conclusion given

by Samuelson that the individuals do not reveal their -

preferences for public goods ? Explain his model with a
diagram. I ! 15
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Define optimal tax system. Illustrate the second best

nature of commodity taxation relative to lump sum taxa-

tion in a single consumer, single firm and two goods:

. labour (used as input) and output framework. Use dia-

grams to support your answer. 8

Consider the following inverse demand and supply

function - : 1+4+2
P =100 =20
2= 10 H0
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A specific tax of $15 is levied on the consumers :

-

() Find the pre-tax and post-tax market equilibriumf

(i) Show that the tax incidence is invariant to a
commodity tax of $15 levied ‘on consumers or
producers.

(i) Who among the consumers and the producer; bears
the greater burden of the tax and why ?
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